= A
N = 0] &F AF S & AN A
2018 = 20l & L BHGH AH A
EXN: A4
Hu: C2AM MY -2l
oo c2Es 2 RXAL EERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
24 1 2,523,672 2,364,307 159,365
= 15,265
Al 5,715
- 2,502,692
T2 AIE AH| - 22l 778,180 555,555 222,625
T2E=E 2 X2 778,180 555,555 222,625
DAL HSHE=Z2 HH| 200,000 200,000 0
401 AlEHIZ 2 0HY| 200,000 200,000 0
01 Al& B 200,000 200,000 0
OXX HSHE=Z HH| 200,000,000& 200,000
cEg=zx=7 L HEFY| 200,000 200,000 0
401 Al HI L 204 HI 200,000 200,000 0]
01 Al&H| 170,000 180,000 A 10,000
OEz=2==23 170,000,000 170,000
02 2eldl 30,000 20,000 10,000
OxzZa=232224| 30,000,000 30,000
C2AE2 E2FX 13,180 10,555 2,625
201 et 10,680 8,055 2,625
01 AP 2t 2] H| 7,680 7,295 385
O&BAHEMN AMBEX=SS 2,840
oEZH YA 180, 000& 44 720
oEZH ESAUT 180, 000& =4 JH 720
oEZH ZXI(A1) 40,000 54+ Xt 200
oXely ZHY3a 150, 000& =44 600
oIglfy EHa 3 150, 000& 44 600
OHEAMNY BHEZAN L TH2AL 1,200
oA 1,000 *6000H 600
o A4 20,000 *304¢ Xt 600
OgRea Z k| 8,000 x35 x11H 3,080
Oz 2o/ &EF&ELH
70,000 2H x4 3| 560
02 2224 H| 3,000 760 2,240
OA&) L2 S ¥ KA
2,400,000 =1CH 2,400
OXNsSX 282 500,000 =1 CH 500
O XS XA 100,000 = 1CH 100
203 ¥ 2 =&H| 2,500 2,500 0
03 AIZH =& 2= X H| 2,500 2,500 0
OAHEAIZHFA 2,500,000& 2,500
S SR201#2 2 S22 30,000 0 30,000




A R =y
Hu: C2AM MY -2l
oo c2Es 2 RXAL EERED
SN BA(SA) - MRAY - BES il HImEET
401 Al HIZ 201 Y| 30,000 0 30,000
01 Al Hl 30,000 0 30,000
OZ3clEXZ, 2B AITE 30,000, 000& 30,000
=2 S22 23 ot=AlE ZHISA 40,000 0 40,000
401 A& HIZ 201 Y] 40,000 0 40,000
01 A& HI 40,000 0 40,000
Odt==Ald &ZdHl, 232 EXZE 40,000,000 40,000
T2, S92 9@ SHEA HESAM 60,000 0 60,000
401 AIEHI L 2 CHYI 60,000 0 60,000
01 Al H 60,000 0 60,000
OoFdz T 60,000,000& 60,000
TEHE 23 EBYEF HoAMY BHEHd IMEY 20,000 0 20,000
401 AIEHI L 2CHEI 20,000 0 20,000
01 A& Bl 20,000 0 20,000
ONAZYOIH &X 24 ZAEY
20,000,000& 20,000
IFF2ZE 23 WEHH HHISA 100,000 0 100,000
401 AIEHIZL 201 100,000 0 100,000
01 A& HI 100,000 0 100,000
OWEHE WA 100,000, 000& 100,000
s 252 23 =23 40,000 0 40,000
401 AIEHI L 2CHEI 40,000 0 40,000
01 A& Hl 40,000 0 40,000
O3 252 43 S =3Hl 40,000,000 40,000
B3 EX0IE 22 23| 75,000 0 75,000
401 Al HIZ 201 Y] 75,000 0 75,000
01 A& HI 75,000 0 75,000
BAE EL0IE Y CREH|
75,000,000& 75,000
S AR 1,150,000 1,358,820 A 208,820
S AIDIBEAIE 22l 25t 1,150,000 1,351,000 A201,000
&2 2 dtAlE | 650,000 650,000 0
401 AIEHIZ 28I 650,000 650,000 0
01 A& HI 650,000 650,000 0
Ozt &2 & ot==Al& &EHl  430,000,000& 430,000
OZU &2 & St=Ad 2SS 2 (SHIHAL)
200,000, 000& 200,000
OZW dt==22 CCTV = AH(EHIH )
20,000,000& 20,000
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A R =y
S S AN
EhRl: S AIDIBHAIE 22| 25 (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
geldol B4 = 20,000 16,000 4,000
401 Al HI K 201 I 20,000 15,000 5,000
01 A& Bl 20,000 15,000 5,000
OoIZ2EXN i+ 243 20,000,000& 20,000
2EE otx=2E RA 200,000 200,000 0
401 Al HIZ 201 Y] 200,000 200,000 0
01 A& HI 200,000 200,000 0
OZU dt==Ald &4 200,000, 000& 200,000
NZIAE =HEZ SEIA 100,000 0 100,000
401 Al HI K 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
OHANEAHEL 100,000, 000& 100,000
2 HE S22 B4 30,000 0 30,000
401 Al HIZ 201 8] 30,000 0 30,000
01 A& HI 30,000 0 30,000
OYsEHl 30,000,000& 30,000
=7 SZU=213¢Z ¥ T2FHHISA 100,000 0 100,000
401 AIEHI L 2 CHYI 100,000 0 100,000
01 A& HI 100,000 0 100,000
OASPE & 100,000, 000& 100,000
xS FAZ2AE~ZTJA0IME 28 S =2 FHIS At 50,000 0 50,000
401 AIEHI L 2 0] 50,000 0 50,000
01 A& Hl 50,000 0 50,000
OASPE AL & 50,000, 000& 50,000
AX™HH 513,865 387,316 126,549
= 15,265
Al 5,715
- 492,885
dZgtE ANEEE 29 513,865 387,316 126,549
= 15,265
Al 5,715
- 492,885
AEHS =& 12,680 32,624 N 19,944
201 £B-2dH| 12,680 32,624 A 19,944
01 At 22/l 7,202 25,572 A 18,370
OXNHEa & DIASEZG 223 7Y 4,052
oZ2ZH X 40,0003 85 320
cE2H 23 600,000& 2Kl E 1,200




2N
X ZH -
L= B

el

A4
EEE
NEIgs NNSY 29

SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
ocXZglH EY 175,000 »2CH 504 1,750
oXZglH 23 75,0003 x2H x4 NI E 600
cQBI ARE 182,000& 182
OXNF2ERJS A+ 3,150
cEZREXN=ZERAS 70,0003 x6H 33| 1,260
ocdAHZERES 70,0003 x5 +33] 1,050
o X &= AR & 3 70,0003 x4 H 33 840
02 =224l 5,478 7,052 AN1,574
Oz332gHl 1,050
cXNABND &2esI| FANE= 650,000 650
SXEIH HSAMN L o RA=SH
400,000& 400
ORSUEHIRANLE SN X2+ 3,680
oGS 230,000& »12& 2,760
cl|XZEE 45,8333+ 124 550
©GeoDT(S 2L A= H 30,800& 12 370
OgRuHaY ZH 748
SPNESR=E 561,000& 561
o EXIO0IEAH &l &l 2 187,000& 187
NEEZ2E HNMASKAH HEHE =l 8,038 0 8,038
Al 4,019
T 4,019
201 LBH2E| 8,038 0 8,038
Al 4,019
T 4,019
01 At 22l 8,038 0 8,038
OXNBE2E HASKA HEHES FH]
74,425@ x108& 8,038
Al 4,019
T 4,019
PNESE 449,239 318,500 130,739
= 15,265
Al 1,696
T 432,278
201 L2l 37,239 318,500 A 281,261
= 15,265
Al 1,696
- 20,278
01 At 2t 2l 33,225 313,500 A 280,275
OXEM = A =2Hh| 19,785,000& 19,785
= 15,265
Al 1,696
- 2,824
OXNETHEZA 2EEI =2
4,220,000& »23] 8,440

_4_




&4 (2 &HH)
= - 4 14
M- o9 (B H) - MEAY - B2 %Ei HR=2
OXEMEAL EE=2 H & 10,000 3004 3,000
OXNEEMEAI AR2E 2 2,000,000& 2,000
02 E2=2=2%H| 4,014 5,000 A\ 986
OXNEMEAI QERZ2 4,014,000 4,014
301 et A= 412,000 0 412,000
11 J|EtE A2 412,000 0 412,000
OXNETHEZAIAISE X2 412,000,000& 412,000
29 FAANY(KA) 43,908 36,192 7,716
201 et d| 16,430 6,990 9,440
01 AR 22l ] 14,670 4,670 10,000
OZZYZ=A9AAs a4y
70,000& x5H x13] 350
OEHsEagEE ZHEgyH A23 1,320
o&ElH(MaY 401, 1ME) 330, 000& *4H 1,320
OEz¥HF=A EE22 H&E & 3,000&*1,00004 3,000
OE2H=A OHHS(MIHE) H=
10,0002 =1, 00074 10,000
02 2224 H| 1,760 2,320 A 560
O=E2HT &oiola 22X ald| 1,600,000 1,600
OADLE KAIS HIOIE AIEE 160,000 160
308 XX SHHSOIH 14,110 13,666 444
10 21 2SUHUSHEAEAE A Y| 14,110 13,666 444
OZINFAEEANAEY SIS & 299 12,918
oGISA X S/W SXE 2,400,000 2,400
o2d XA 10,518,000 10,518
OEZTHZFADI2E ssig AIY 1,192,000 1,192
401 Al HI L 2 0HHI 13,368 14,936 A 1,568
01 Al & H| 13,368 14,936 AN 1,568
OE2HZ=A CHUHAIEEZ MEAX 4,000
o2 H I 400,000 =104 4,000
OEZHEZTA CHUAIEZE KRAES 6,868
oASHSIE WX 15,000 *8,451J1 =0 .01 1,268
o ZHI WX 400,000& 70070 *0.02 5,600
OMMZT=A OFLHE M2 AX 25,0002 *1007H 2,500
HE2IFAH (HE W) 81,627 62,616 19,011
JlE&d| 81,627 62,616 19,011
N PAR= s 81,627 62,616 19,011
201 Bt 11,907 8,496 3,411
01 AP 22| H| 11,907 8,496 3,411
OBA2YE 2424 279,000& »21H 5,859
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2 A4
M HH2IZH(AL)
¢l =gl (chel & 9l)
SA-ZH () - HRAY - BES Ofl & oH %}E_i Hns2Z
OJl2ges8d =4l 8,0008 34 «21H 128 6,048
202 oddl 65,520 49,920 15,600
01 = LH 4 1l 65,520 49,920 15,600
OJlege+=8 ol 260,000& x21H »12& 65,520
203 R =&l 4,200 4,200 0
04 ENSSHRF=EHI 4,200 4,200 0
ORMZEZH 350,000& »12& 4,200




